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COMMERCE - all@iry
PAPER - III Yu-I1T
Note :This paper contains Seventy five (75) multiple-choice, assertion and
reasoning/matching questions. Each question carrying TWO (2) marks.
Attempt All the questions.
Gl wewslH dAar (ow) sgRselld usdl, wA-elg v Assl s weil
B M UsAL el duidldl . dds wsl & () e 6.

1 One element of the following items 1.  «{lA-1idl As dd Guelisdl 2UasiR
is not related with Consumer Right : AL Aol(Ba «dl :
(A) Right against exploitation by (A) w1l dwz ualael vl
unfair trade practices Rad RS

(B) Right to a physical > 5 o .
environment enhancing quality (B) @t ®lB YHIRAL Hle-t

of Tite clilds atdiazel s

(C) Right to Express (C) Bl a5

(D) Right to choose the best from (D) A5 ulaiHigl Aveq yieofl
the variety of offers gl 2AAsIR

9. Match the items of the List T and 9 ¢l q 2q Wl 2 4l »uud Roidi

items 1‘of til_e L;st IItahnd cl;oose_ the AL AVl
, 74 rom the codes give
(;’;Tro‘ewc 'op ion fro e codes given ] 4 a9l 2
iy List II (@) virdlsal G) 0 Eud Al
(a¢) Privatisation (i) Agricultural (b) yedl o (i) AWR 2l
Price Policy Y4 dAbLsslAlR &2
(b) Open Market (ii) Phasing out sl
Operations trade barriers (c) aydH est-l (i) A sEl
(¢) Minimum Support(iii) Purchase and G o120 DAl Wl
Price Sale of Govt. 2 e
Securities ; _ ’ N
(d) Liberalisation (iv) Encourages () Geidlseal (iv) meﬁ{mm@fm
entrepreneurship S : .
Codes : (@ (®) (c) (d)
(a) b) (c) (d) (A) (@) (17) (i)  (w)
o © @ @ @ @B @ @) @ O
o o e = o © G O G @
Comm.—I1II 3 [P.T.O.]




3. Assertion (A) : The Structural
Adjustment
Programme
(SAP) has been
forced on the
economy

Reason (R) : Excess of con-
sumption and
expenditure over
the revenue,
resulting in
heavy govern-
ment borrowing

(A) Reason given is not an

appropriate explanation

(B) (R) is one of the reasons for (A)

(C) (A) and (R) are not at all

related

(D) (R) is not appropriate measure

for structural adjustment of the

economy
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Drivers of globalisation include :

(/) Establishment of W.T.O.

(ii) Regional Integration

(ii1) Private Law

(iv) Growth in FDI

(v) Growth of MNCs

Select the appropriate set of drivers :
(A) (@), (v), (D)

(B) (@), (), Gv), W)

(C) @), Gn), Gv)

D) @), D), Gv), W)

Which inventory issue pricing
method assumes that the inventory
units available for sale are
homogeneous ?

(A) Specific identification method
(B) Last-in, First-out method

(C) First-in, First-out method

D) Weightage—avoragd cost

method

Jomm.—1IT

doacllszuirl AlAsiHL AU AL 6
@) W.T.0. ~l ey~

(i) e-llu »islsr

(ii7) vl s1uel

(v) FDI #i 9l&

) MNC -l 9l

oy AALESIAL A wde s3U
(A) (@), (v), (i)

(B) (1), (i), (v), (v)

(C) (@), (i), (Gv)

(D) @), @), Gv), ()

el oas BHadl 9 uglam
Qael M2l HiaaHaldar ssHl
MsAL el O Al dlzeL sl
A1 9 7

(A) v wliavw Ygld

(B) ¢l wilds, MM Aas Ysld
(C) M4 »ds, MaH Aas dald
D) clid—uU9 usdz veld
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The journal is called :

(z) Day Book

(i2) Book of Principal Entry
(tii) Book of Prime Entry
(v) Book of Original Entry

Select the correct answer from the

codes given below :

(A) (@), (i) and (v)

(B) (@), (iii) and (iv)

(C) @), (i) and (i)

(D) (), (i) and (iv)

Cash Flow Statement is prepared
for :

(A) determining the net working
capital between two balance
sheet dates

(B), determining the net fund
between two balance sheet

dates

(C) determining the net cash flow
between two balance sheet

dates

(D) determining the net operating
profit between two balance
sheet dates
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A 200 AstiHid] Wl gaie]
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(A) (@), (D) &1 ()
(B) @), (i) 21 (i)
(©) @), @) ¢ @)
M) @), @) A (o)

ASS Uale Wasa QUL Sl 2

¢

(A) & wsl 43Ul Al 9]
vl sidalle Y8l Malze W

(B) o wWsl A3l ARl -y
Yluuyl eigiodl el a2

(C) & st AU Alvl 923y
vl 58 Naledl Falze w2

D) & wsl AUl Al q2ey
vl Al (3o Asi-
(Rale w2




8. Marginal cost is also known as : 8.
(A) Period cost
(B) Variable cost
(C) Fixed cost
(D) Absorption cost

9. Margin of safety is the difference g

between......ccooccevvnns }

(A) Marginal Revenue and

Marginal Cost

(B) Expected Sales and Actual

Sales
(C) Expected Sales and BEP Sales
(D) Actual Sales and BEP Sales

10. The elasticity of demand over the

demand curve is :
(A) Different at each point
(B) Same on each point

(C) Constant for each demand

curve
(D) Zero

Comm.—11II 7

10.

AlHid usd 2aviy € :
(A) AHY USdR

(B) Aul&dd usdz

(0) Yl usdr

D) wHdsll usdr

AAMdll cual ¥ SERR

dsldd 9.
(A) AHid 2as 2 lHid Usdr
(B) A A28 A WU A8

(C) UM daul A wunde [Big

LBl

(D) wIwz aawl wd Axdge g

SEIIE]

wioL as [AUHL Hid(l AL
(A) £25 Big U nEdL ¢ld &
B) e [Blg U AHIL SlU &
©) 35 HioL as W2 RuR gl 9
(D) Y sln 9
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11. If for a firm the sunk cost of a 11, 9 a8 W 1S s Helledl sotdl usdr

12.

machinery is Rs. 6 crores, its

opportunity cost would be :
(A) Rs. 6 crores

(B) More than Rs. 6 crores
(C) Less than Rs. 6 crores
(D) Zero

A monopolist discriminates between

two markets and charges Rs. 10 per

unit in Market ‘A’ and Rs. 15 per

unit in the market ‘B’, then price

elasticity of demand is :

(A) More elastic in Market ‘A’ and
less elastic in Market ‘B’

(B) More elastic in Market ‘B’ and
less elastic in Market ‘A’

(C) Equal elastic in Markets ‘A’ and
‘B'}

(D) Unit elastic in Market ‘A’ and

perfectly inelastic in Market ‘B’

Comm .—-IIT
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13.

14.

In a monopoly market it was found
that the price elasticity of demand
was — 0.75. Then the monopoly

power would be :
(A) 1.33

(B) 7.5

(C) 1

D) 75
Match List-I with List-II and choose
the correct option from the codes

given below it :

List-1 List-I1
(i) Different items (@) Quantitative
having common classification
characteristics are
brought together
(ii) Systematicarrangement (b) Qualitative
of statistical data in classification
columns and rows
(iii) Classification ofdata  (¢) Tabulation of
as number of males and data
females in sample
(iv) Classification of number(d) Classification
of students according to of Data
height
Codes :
@ G G Q)
(A (@ b) (c) (d)
(B) b)) (a) (d) (c)
© © @ @
O ([ (o) (D) (a)
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13.

14.

@

(@)

(iif)

(iv)

Mg 2B ool Hididl A&l

—0.75 Ol L AsUASIR AHdL e ¢
(A) 1.33

(B) 7.5

) 1

D) 75
R-1 A yAll-2 Andl i wl
s1s widl

yAl-1 YAl
el Yel RGP FU  (a) AANAS
wrudatel 8 d- el aafls2s
Al »id 6
wissiaell HRAAL () opRtcttt WISl

Sie(l »A Leudl veld— SPIPEEE]
Azl atsasil

gy wlddvad @ uled-d

wRdld allsa SL8LcHS R
Gl wad [Renllziidl @ Hledld
v asllsze aoflsze
(1) @) @i ()
A @ b (@ (@
® ® (@ @ @
e @ @ (@ ()
O (@ (© (b) (a)
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15.

Match List-I with List-IT and select
the correct answer from the codes

given below it :

List-I List-IT
(i} Lottery method of {a) Multi-stage
selection of sample sampling
@) Selecting sample from () Simple random
complete list and first sampling
item to be selected
randomly and thereafter
to be selected with
evenly spaced interval
(i) Sample to be selected  (c) Systematic
from particular state random samp-
of predetermined ling
house-holds
Codes
@ @ @)
(A) (@) (b) ()
(B) (b) (e) _ (@)
© © @
D) @ (o b)
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16. Area under normal curve for 16.

X + 16 covers : -
(A) 99.73% of area
(B) 95.43% of area
(C) 68.27% of area
(D) 34% of area

17. If in a regression line y = a + bx,
where b is zero, then the regression

line will :

(A) pass thfough the origin
(B) be parallel to X-axis
(C) be parallel to Y-axis

(D) have the same intersection

point on X-axis as well as Y-axis

18.

' 18. Which one of the following softwares

is used for research analysis ?
(A) SAP
(B) ERP
(C) SPSS

(D) TALLY

Comm.—III 11

17.

WML As3vl Hle X =+ 1o

Rz 2iafRd 53 8.
(A) (Al 99.73%
(B) [l 95.43%
©) Bl 68.27%
D) [zl 34%

Ry = a + bx Hedladet ML b YrH

Y ) "

0 ol d uc}uc{c[-i vl
(A) HA (origin) Hidl wR il
(B) X-axis % Uid 2
(C) Y-axis =l %L‘-L'LICLQ Bal

(D) A X-axis 2 Y-axis UR 215 %

ety val

sl Redrls e Wi Al suy

Alsed -l Guulol w8 7
(A) SAP
(B) ERP
(C) SPSS

(D) TALLY
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19. The main advantage of functional

organisation is :
(A) Specialisation
(B) Simplicity
(C) E.xpert. advice
(D) Experience

20. Delegation of Authority is linked

with :

(A) Managerial planning

(B) Management co-ordination
(C) Management control

(D) Scientific management

21. Techniques of management control

are useful in :

(A) Selection of plant location

(B) Identifying - appropriate
technology |

(C) Profit planning

(D) Conducting shareholders’

meetings
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19. [uielle earedotmi QA £ Mg

Al YA 9

A) [QlMResy
(B) AUl

(C) [Awiid-l yeg

(D) g™y

20. A7 [@Aglsze flaq U4 s wd)

Asadg ¢ -

(A) dAlasly i
(B) dutasly dsaq
(C) Auasly »iga

D) dsils Aqud-
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Usl Asui Guyoll & -

(A) stavilAl ooui]l yaigallng
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99. Motivational process and not the 22

23.

24.

motivators as such is associated with

the :

(A) Need-hierarchy theory
(B) Two-factors theory
(C) ERG-theory

(D) Expectancy theory

Magazines and Journals are 23.

suitable for advertising products of
............... types purchased by -ohly a

particular section of society.
(A) Special -
(B) Specific
(C) General

(D) None of the above

24.

Role of Marketing has become vital

because of changes and increased :
(A) Technology

(B) Competition

(C) Both (A) and (B)

(D) None of the above
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(A) w3RuidiAl sl Rigid
B) —en ulRow Rigid

(C) ERG-Rigid

(D) alzaijusial Raid

A3 oA Fded A S Ud e

AL 4L B s s s et

HIZ 50 9
(A) (afare
(B) AlssA
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(A) es-ldio
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25.

26.

27.

Informing the buyers of new brand
and new package is the.....................

of sales promotion.

(A) Objective

(B) Method

(C) Application

(D) None of the above

Producers of garments often
Organise.................. shows to promote

their products.
(A) Charity
(B) Orchestra
(C) Fashion
(D) Movie

Salesman creates more... .............
which makes planned and regular

mass production possible.
(A) Demand

(B) Sales

(C) Price

(D) Consumer

Comm.—II1

25.

26.

27.

Ulerlzd Qelsidl Adl ais » Aqr
UEor (A9 HURdoUR s2dl M2 A+t
Usl sy 25 uRen gqeer & ?

(A) 8q,

(B) uald

(C) Guulal

(D) GugAsd ULl Asys 4]

AUl SUSi-L Geulesl Wididl Aelsiia
UL Grl¥d/elmd sal HIZ oA
A A4 48 58 25 Aoud
AU 52dL Gld

(A) Avildd
(B) dlede
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28. Match List-I with List-II and choose
the correct option from the codes
given below it :

List-I List-II

@

Net Income approach (@) K, is rising with
increase in debt

(II) Net operating income (b) K, and Ky

approach remain constant
irrespective of
proportion of debt
(III) Traditional theory ~ (c) Arbitrage process
(IV) M.M. approach (d) Optimal capital
_ structure
Codes :
M (In dn (avy
@a b @ @
B) @ ®» © @
© @ @ ® el
O @ (© (a) (b)

29. According to CAPM the cost of

equity is derived as :
(A) R, + R,, - Rp B;
B) R+ Ry, - Ry B;
(©) R, + RA,

D) Ry + R,pB

Comm.—I11
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(IV) M.M. w3214 (d) SredH sl

o
515
(M 3dn dm av
@A & (@ @ (c)
B) (@ () (c) (d)
©c @ @ (b) (@)
O @@ (© (a) (b)
29. CAPM udl S5l usdz e
Q9
(A) R, + R, - R) B;
(B) Ry + (R, - Rp B
(©) R, + Rp;
(D) Ry + R,B;
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30. Match List-I with List-II and choose 30. YAl-1 A yall—3 Aacl ¢ W3l

the correct option from the codes G e s

given below it :

YAl-1 YAl
List-I List-II
D Yd—aUY vgla (@ A4z ylg-Hl
(I) Pay-back method (@) Shareholder '
AUt HenHlse
wealth maxi- 4
misation is %{lg ALY &

directly examined (1) Wveu—aduiiyen @) sis o ol
(II) NPV method (b) There can be el 2 59 ayLs

more than one

yl3euMl eid uk

outcome even in _ )
(1D 2id[2 5 qud? £ (c) 48l Hiveie]
single calculation

E Ugld AAMHL GuAIo0 6
(IIT) IRR method (¢) Useful in case of
capital rationing (IV) 81512 5cll 9L8li% (d) BULR dil3ts
(IV) Profitability Index  (d) Useful in case gl dledidl £2 8ol
method where rate of 4413 8 yl3d
technological Gualaf 3
obsolescene is fast N
518
Codes :
(D (I I  aIQv)
(I (I  IIm avy
B ® © @ ( B ® © @ @
€ (© o) (a) (d) ) (@ () (@) (d)
D @ @ ® © ® @ @ ® (©
Comm.-III - 16




31.

32.

In the Miller-Orr model of optimum
cash balance, return point value
is @
(A) inversely related to interest.
rate

(B) inversely related to holding cost

(&)

inversely related to transaction

cost

(D) inversely related to cashflow

variance

According to the Gordon model, the
price of the share is dependent

on :

(A) Dividend pay-out ratio and

earnings per share

(B) The required rate of return by
shareholders and expected rate
of return on investment by

firms

(C) EPS at the end of the year,
dividend pay-out ratio, rate of
by

shareholders and expected

return required

rate of return on investment by

firm

(D) Target pay-out ratio and EPS

_ Comm.—III
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- (B)

SvodH UsS—asl Mar—»liz

Hisaul uxdlbig yeu :

(A) @1 g3 A [@Auld Adeiw 4:1d
2
B) el vl 8 Quld Aeiy 421d
£
©) sz vwd Al [@Quld doiy

g1d 8

(D) sS dale [Qadqd w8 [@Qudld

doig & 9

MEA—H1Sd Ul w2l [FHd

2140 89

(A) cieia asaell aeiar i uld

QU3 Vs

NU—e1eSA glzl 2AAYS dUdR
2 A Wl FdeL uz -l AU Rd

Qud &R
(©) adi-d EPS, dleia sasll
apefinia, AuR slesd glrl HdUs
QiR 62 2 AL (RAgL Uzl

UYL and &R
(D) @guis sasll delidr i EPS
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33.

34.

35.

The Basket training method

means :
(A) Development of decision skilled
(B) Development of resources

(C) Development of production
(D) Development of institute

Which one of the following is not
included under functions of Human

Resource Management ?

(A) Planning

(B) Organising

(C) Profitability

(D) Recruitﬁent

“Rage Committee” is related to -

(A) Individual differences in

Indian industry

(B) Working conditions in Indian

industry

(C)

Social security in Indian

industry

(D) None of the above
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(€) Gewet [asin

(D) -l Qs

Hird AL, ALl sl ]9
Usl sul Bsell A9 Ul ol ?
(A) Ui+
(B) dReldt
(C) 51515l
D) ™rdl

UL MR 2 caldd V4 58 s
oot AL Asi[Ad & :

(A) Mdly Gelalidi <3y
Y™ el
Ml Gellofimi 5142010+
Y[Rl

(B)

(C) cudld GelloiMi APy s HeuHR

(D) Gsd Ul SSue ]




36. Match List-I with List-II and select 36, l€l-4 « ulel-3 118 Aulavudl
the correct option from the codes 43 saldd Sis gzl ARl Gar wRis
given below is :

5 ¢
List-1 - List-I1
. _ _ el—1 ylel-2

(@) E.F.L. Brech (1) Human Behaviour _

at Work (@ .98 .24, 9 1) s1d ur HiAdla
(b) Keith Davis (2) Principles and CL({'QL%

Practice of @ Huslaxn @ Al Rgidl i

Management

AYELY

(¢) Chester. Barnard (3) The Elements of . " : ‘ »
@ Aeaudodls (@) adlagdlues del

Administration
o ‘ , @ wzAs 6Es @ RsRlu sl
(@) L.F. Urwick (4) The Functions of _
the Execufive 5lS -
Codes : (@  (b) (c) (d)
(@) (b) (c) (d) (A) (4) (3) (2) (1)

@ @O @ B @
©c @ O 6 @
™ @ O @ 3

o @ O & @
o™ @ @O @

37. The Universal banking covers : 37. adey dlsami %{Hlalfil. AR O

(A) Banking across the globe (&) R 2 dlsa

3 c ™ "
(B) Banking for all the customers (B) ol Alesl Hle SIS

(©) oidly AlFaL Acuivil 2l

(C) Providing all banking services

(D) Banking for Universe (D) sedis Hie 65l

Clomit—II1 | 19 [P.T.O0.]




38.

39.

40.

T

NABARD is a : 38.

(A) Rural Bank

(B) Refinancing Institution
(C) Commercial Bank

(D) Policy Making Bank

The SARFESAI Act 2005 empowers

banks to :

(A) increase NPAs

(B) offload NPAs on others
(C) recover NPAs

(D) dilute Assets

Which of the following is not a

40.

source of funds for State Financial

Corporations ?

(A) Income from investment
(B) Refinancing

(C) International markets

(D) Reserve Bank of India

Comm .—III 20

AUS A5

(A) e os &

B) yelda d2 &

(©) AuIR] 6 &

D) @ ol s &
SARFESAI 4131 2005 61511 Al m
9

(A) NPA qgl24dl y12

(B) NPA 1 ofla1 Gu glnar w12
(C) NPA y-: Uit $al W2

D) Masdid endl sa1 32
AL sl sy oy gy Mo
%Lé sl wild -]

(A) i‘tswmieﬂ AICE

(B) y«lHz1al

() widAly o)

D) Red 6 2+1s sy




41.

42.

43.

In terms of ‘GDI world’s largest free 41

trade area 1s :
(A) NAFTA
(B) SAARC
(C) ASEAN

D) EU

To join IFC, a country.............. ; 42.

(A) Must first be a member of the

WB
(B) Have signed IFC’s AOA

(C) Have deposited instrument of

acceptance of the AOA

(D) All of the above

Which one of these is not an original/  43.

founder member of “ASEAN” ?

(A) Indonesia

(B) Malaysia

(C) Korea

(D) Singapore

Comm.—11I 21

GDP-l a1 [Rsani Hiell Hig 4sd

quiz Bl 69

(A) NAFTA

(B) SAARC

(C) ASEAN

D) EU

[FC 4l At oieddl He 25 84 :

(A) aed 6isel Aoy slal ASH

(B) IFC L »UEsd s R E DR

Guz udl 534 AWSH

©) s s AU

aefl sl GusE gL 53 ASH
(D) Gu-l o4l %
S IDETRVELRESI) “ASEAN” -l YU RULMS
wey 4l ?
(A) %S'v_s“t-“{&uu
(B) Halau

) szl

D) [Rouyz

[P.T.O.]




44,

(a)

Match the following of List I and
List IT and choose the correct option
from the codes given below :

List I List II
(Concepts) (Disadvantages)

Joint Venture (Z) It may exhaust

resources
(b) Foreign Trade (i) Unnecessary capital
movement.
(¢) Fixed Exchange  (i{) The amount of profit
Rate potential are reduced
(d) Flexible Exchange (jv) Transient nature
Rate
Codes :
(@ () (c) (d)
(A)  Gi) @ (iv) (it)
(B) (ir) (1) (iv) (iiz)
©  Gv) GiD) G ()
(D) (@) (i1) () (@)
45.  Product life cycle theory of ‘FDI’ was
propounded by.............. .
(A) Adam Smith
(B) Raymond Vernon
(C) F.W. Taussig
(D) Heckscher-Ohlin
Comm.—III

44. [ Y€l 9 ¢x1q yel 2 AL Al

Al
Yiel q
(vaqiefl)
(@) HYsd Aley
@) [azall quiz
(© Ruz [AMRYY ez
(d) ulzad-sllg
[QlAu ez
sls :
(@)
(i)
(i)
(tv)

@

(A)
(B)
(®)
(D)

45.

..........

(A)
(B)
(C)

(D)

22

(@

(if)

(7i1)

(iv)

(i)

(i)

WY [y

IHYS Qe

yrel 2
(Arenedl)
2L AL vue) 53]
HE
[Girto331 38l anan
Al Mot

qelsl U1y &

w18 sl
) ()
@) @)
) (@)
@ @
@) Gv)

‘FDI" -1l deldl @a-as-l [Mgid
al2l uluilRd ay),

2w .56q,. 2oL

S5U—{le[d




46.

47.

48.

Which of the following is not basic ~ 46.

function of Packaging ?
(A) Protection

(B) Performance

(C) Production

(D) Promotion

Which of the following is not a party ~ 47.

of buying behaviour ?
(A) Influencer

(B) User

(C) Decider

(D) Government

The techniques of measuring life 48

styles of consumers is called :
(A) Demographics

(B) Geographics

(C) Psychographics

(D) Photographics

Comm.—III : 23

QA-iedl 54 Usdlod e s

4yl ?

(A) R&8L
B) sl
(C) Gcdlert

(D) Ga%-

QA U5l sidl wRle adgrs-l

el wd adl 4l 7

(A) AT UUSHIR
(B) Gw&ét sdl
(C) 58l 53UR

(D) AR

atesl waduel wualdl d-

PRETLIT R

(A) adllamus
B) efloilas
(C) HiAuaua{ld

D) sieiasl

[P.T.O.]




49. A point of comparison for an
individual in the matter of forming
values, attitudes and behaviour is
called :

(A) Reference group
(B) Celebrity
(C) Personality

(D) T. Group

50. Societal concept of marketing is
for :
(A) Large scale selling and
promotional efforts
(B) Production as per consumer
needs
(C) Product improvement
(D) Improvement of people’s well
being '
51. The big difference between

advertising and publicity is that :
(A) Publicity

advertising is paid for

1S free and

(B)

The sponsor of the advertising

is openly identified

Publicity is limited to sales of
services and advertising is used

for products and services
(D) All of the above
Comm.—IIT
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49. Heul, qdgl A qdgsl spoiddi sis

50.

51.

S bk

A5t Hi2 AvuMR1AL HEl &

(A)

(B)

(C)

(D)

qiElol WM s vy,

Aecl-Ayely
WRAg—u[3d
4[5 ol
T—AYely

.............

-

Hie 6.

(A) MLl WdlL Q200 249 MicAls el
YY)

(B) wesi-l %3RuUld =g Gewig

(C) Uelal YAl

D) disil YrustAxi yal

At 2 [Astiue 9224 W2l dslad,

¥ 068 %

(A) [Astud 4sd © A A& 1D
Ysqal US €9

(B) #eldl Ul yedl 1d
Aol usiy &

(©) [astiu Al 42 yad
APt 9 217 Adud ALl 219
Al M2 Guyell

(D) BuAL o8 %




52. How many entities are involved 1n 5. G{L3d™Hl 324l AL gl “laLislu

regulating the financial sector in e [Flams 53 Qi 2d B ?

India ?

(A) 3
(A) 3

(B) 5
(B) 5
(©) 10 €y 10
D) 1 D) 1

i

53. Which one of the following 1s not 53. «{ld-unigl 5§ ssle T2l w2

credit rating agency ? (Jog=adl) el ?
(A) CRISIL (A) CRISIL
(B) Moody’s | (B) Moody’s
(C) IRDA | (C) IRDA

(D) ICRA (D) ICRA

54. Clobal depository receipts (GDRs) 54. ddiote slusfle] e (GDRs)

are 1ssued IM.....ooovveeeemiaiinnns market. ettt IR ML GLeLR WMl 2H1d
(A) Indian capital
(A) oxdly ysl

(B) US capital
®B) "5t ysl

(C) Euro |
(C) 4zl
(D) Australian capital (D) »zplaud ysl

Comm.—I1I 25 [P.T.0.]




55.

56.

o7.

FCCBs stands for -

~ (A) Foreign Capital Convertible

Bonds

(B) Foreign Currency Convertible
Bonds

(C) Foreign Currency Capital
Bonds

(D) Foreign Capital Currency

06.

Bonds

(A) Stock Exchange
(B) Credit Rating Agency
(C) Regulatory Agency

(D) Bank

Which one of the following is not 57,

money market inétrument Ve
(A) Certificate of Deposit
(B) Commercial Paper

(C) Treasury Bill

(D) Debenture

Comm .—III 26

FCCBs 224 :.

(A) [aesll 48l 3uidRd oiivsy
B) (Qeall 4wl 3uidRd oliwsy
(©) [aeell 2aw ygl oi-sy

D) [aeall 3l A48 ofiwsy
Aofl (SEBI)
(A) AR oAR
(B) $8l2 2oL e (o))
(©) Faresia e (Ax=2l)

(D) ols

il sy i s we-
Yl ?

(A) uelslse 2ls Sz

B) siuRlya Auz

(C)-Easz“l [Gle

D) [So{x2




58. A written statement of the human

qualification, education and

experience needed to perform a job

is referred to as :
(A) Job design

(B) Job description
(C) Job specification
(D) Job enrichment

59. The Differential Piece Wage Plan

is related to :

(A) Joseph Scanlon
(B) F.W. Taylor
(C) Harold Koontz
(D) James Rowan

“Human Relations Approach/

60.
Theory” to management was

originated by :

(A) F.W. Taylor

(B) Peter F. Drucker
(C) Elton Mayo

(D) Henry Fayol

Comm .—III

59.

60.

27

Sl dlstd, [BEe wA vided
sid sal Wi 33l 9.7 v UslR
Al Mdet A+ Usl si-l gl

s Ud ©§ 7
(A) siddldl
(B) sii—asl-
(C) sld—uvedl
D) s1d—qle

AeHIay s £925—uouR iyl {laxl

U4l 415 s 2wl Aollfd © -
(A) BAs5 Beidir

(B) ¥15.501¢Y. >U2

(C) SRes 57

D) ¥R U

2wl Hidly Heia a){[a{aml,r[@@d

QAL UH vy gl ualdd sl
dLAL £

(A) W5.56¢y, 24
B) Jlex s, $552
(C) vlead Al
D) &l 3did
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61.

62.

63.

VRS (Voluntary Retirement

Scheme) may be used in................ i
(A) Training Policy

(B) Exit Policy

(C) Import Policy

(D) Export Policy

Dexterity tests are used to judge

the..-. ............ .
(A) Training of the candidate
(B) Proficiency of the candidate

(C) Physical movements of the

candidate
(D) None of the above

The practice of placing a candidate

at the right job is :

(A) Selection

(B) Recruitment

(C) Placement

(D) Interview

Comm.-III
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¥ARess Mgl Aol Guaiar 3
U4l 1S As gl 4S ud

(A) alax -l
(B) M2 llq
(C) 2l -l
D) (s «ﬂ[ﬁ

$U9dl SAEAAL Guyloy 1A 14
SIS A5 ollold A58l sl WS Ay
9 :

(A) GAsall dulan

(B) GHedlr-l saidi/u@eiar

(C) GHeaRd wWRS sari—ad-
D) GuR Usl siSual «dl

GHedlz Yoy ooyl [Hagls
ANAL Mejaell A4 V4] s
glRL NMY B

(A) el
(B) ™l
(€) ["1y3d

(D) Helsid




64. SDR’s are allocated by the :
(A) WTO
(B) IMF
(C) RBI
(D) IFC
65. Match the following items of List I
with the items of List II and choose
the correct option from the codes
given below 1t :
List I List IT
() Ethnocentric (i} Companies view foreign
Approach market as an extension
of domestic market
(b) Polycentric (;i) Companies establish
Approach foreign subsidiary and
empowers its execulives
(c) Regiocentric (i) Subsidiaries consider
Approach regional environment
for policy formulation
(d) Geocentric (iv) Companies view the
Approach entire world as a single
country
Codes :
@ B (© @
(A) (2) (i) @i Gv)
(B) (Z) () @) (tv)
(C) vy @) @) (2)
(D) (1) Q) (D) (tv)

Comm.—I1I

64.

65.

(al

th)

c)

(d)

.Sl wl. (SDR’s) -l stas(l s
@ 4

(A) WTO
(B) IMF
(C) RBI

(D) IFC

gl 4+l [@oidl wel 2 o+l [@oudl

AL wvudl

ylel 4 el 2

yeandl iRd @ Sudl @zl seazin

w11 2q2 9l st 2L [l

r

A% A e

cigadl Slaa G sudl lag ol uelds

{91 syl 2ludlL 52 8
2 Al s zie
Al 20

w29 5lad ain HlR Malze e

G At s su-lal sy

LAl 28U LA €L 89
01‘5[:;.—1 MM (o) Sue{lal vl [Qead

15 29 ATl a9

@ ® (© (@

(A) (1) (1) @) (w)

B) @) G @ @)

C) (Gu) (G (11) (1)

(D) @y i) (ii) (iv)
[P.T.O.]




66.

67.

Comm.—III

Which one of the following is not
an advantage of the fixed exchange

rate ?

(A) Protection from the risk of

uncertainty

(B) Maintenance of monetary
discipline

(C) Convenience

(D) Transient nature

The theory of comparative
advantage assumes single factor of

production i.e. :
(A) Land

(B) Labour
(C) Capifal

(D) Machinery

30

66.

67.

(A sl 5y RuR QFBY el ey

Y] :

(A) AR Avme] yra

(B) -l viduql muqel]

(C) sl

(D) &lBs woeqyq

da-lcis deil Rgid Aetandr AN

™

% YAl ey 53 @
(A) ¥Hl-

(B) a4

(€) gl

(D) 4=t




68.

(a)

(b)

Match the items of List I with the

items of List Il and choose the

correct option from the codes given

below it :

List I List I

Importing (i} Mode of International
Business

Marketing (it} Functions of Inter-
national Business

Sales expansion (iii) Objectives of Inter-

national Business

(d) Economic forces (iv) External Influence
Codes
(@@ G © @

A G © @) @)

B G G G @

© @O @ Gi) (v

O  Gv) G @) @)
69. The W.T.O. is the embodiment of.......

results and the successor to............ :
(A) Uruguay Round, GATT
(B) Bretton Woods, GATT

(C) Uruguay Round, GARP

(D) Bretton Woods, GAAP

Comm.—III

68.

(e)

(b)

(c)

(d)

dlel 4 A wlel oAl Hesl
Avildl

ylel 4 ylel 2
AL 52l (i) lazvgla dui-l

ot Else (g G
539,
At [Qrdd s34 @

s ABdl o)

£S

@ 0
A G 6
B) G @)
© @ @
(D)  Gv) )
W.T.0. % ........

Hdlza3u & 24

Gazasl o :

)

iz gy el
514

iz zindlyy gyl
Grall

{168 MG4LAL

) (d)
@) @)
@) @
@) Q)
(L) @)

..... Al w2 LML
.......... “l

(A) G392l UGS, GATT

(B) ¢ledqS, GATT

(C) 3334 UGS,

GARP

(D) Se-dS, GAAP

[P.T.O.]




70.

71.

The income which accrues and 70.

arises outside India, from sources

situated outside India :

(A) is exempt in the hands of all

assessees in India

(B) is chargeable in the hands of

all assessees in India

(C)

is chargeable in the hands of

resident assessees in India

(D) is chargeable in the hands of

non-resident assessees in India

In the case of partnership firm, if 71,

certain conditions are satisfied
and if the profit of the firm is
Rs. 1,50,000, the amount of
remuneratioh paid to partners will

be deductible upto.........ccoeeveennnn.n. , In

the hands of firm.
(A) Rs. 1,35,000

(B) Rs. 1,50,000
(C) Rs. 3,00,000

(D) Rs. 90,000

Comm.—III - 32

lzd oel Rud wldMidl, ed
ol BUUFd 2 BGemdd ilds :

(A) 1AL 44l % $6LAl2lAL SlaMl

5345d 6

(B) ®l2csll 614l % $eldllixl SlUHl

SAUI5L 89

(C) H1dL REl8L $EtdlvliAL slaMl

5305 €9

(D) HLdAl [B—3Ele $e1didinAL

SlUML 53Ul 69

coflel?] AL ARNHI, B 23y
92l Adiid A A WAl «4sL Rs.
1,50,000- ¢l dl ¢ellelzid ysdd
ueHdeu-dl 2suuidl Rs. ...

Yl suld Hual.
(A) Rs. 1,35,000
(B) Rs. 1,50,000
(C) Rs. 3,00,000

(D) Rs. 90,000




72. Match the following : 79. AL ASsL oi-ldl ¢

Nature of Residential Tax to be QL\_!,CLQH:L' ﬂ_qqftlzrﬁ whiaedl
Payment status of deducted at %qa-q_ RQLQ{[—‘E. Q"gﬁﬁ SQ.’S'LlLd."fl =]
Recipie : ] . e ey
ecipient sourceatthe ;) o9mofl7] () siduSL 3 {a) 0%
Rate ;
e Y ey
(I' Interesion (i) Any person {a) 0% ( . 2:
AHYydlel
Securities
Ricu)
{other than
(1) 65 FDRs U i) 2dlal culEd 1) 10%
exceptions}
Rs. 10,000
(11} Interest upto i) Resident person by 10%
Yl e
Rs. 10,000 on
i @2l REeAL i SousL ldd (e} 20%
Bank FDRs
{11I) Commission ete. (iif) Any person . le) 20% el
: 2
on sale of lottery Re::1,000 {l
tickets exceeding ) q% s{Har
Rs. 1,000 avyNssAelfd e 2elal Al (d) 10%
(IV) Payment regarding (iv) Resident person (d) 10%: Rs. 2,500 iﬂ
NSS exceeding CL%“[]. QLSCLQI‘:[
Rs. 2,500 5\[5 :
Codes :
. ) (In  Jimm  av)

IO dn dm av)
(A)  (v-b) (i-a) @ii-d) (i-c)

(A)  (Gu-b) Gi-a) Gii-d) (-c)

(B) (i-a) (v-b) (@) (i-d)
(B) (i-a) (v-b) (G- (ii-d)

) @b (Gie) @i-a) (v-d)
(D) (ii-c) G-a) @i-b) (v-d)

(C) @G-b) (ie) Gi-a) (uv-d)
D) (ie) G-a) G-b) (v-d)

Comm.—III 33 [P.T.O.]




73. Match the following and choose the
correct option from the codes given
below it :

(I) Concealment of (@) Tax Avoidance
income

(II) Artof dodging tax (b) Tax Management
without breaking the
law

(IIT) Reducing tax liability (¢) Tax Evasion
by fulfilling intentions
of law

(IV) Compliance with

statutory provisions

(d) Tax Planning

of law
Codes
Iy an {JImn av
(A (o) (c) b) (d)
B & @ (o (a)
(&) © (@ (d) )
M @ ) (a) (c)

74. In case of sale and lease back, the
actual cost of asset for claiming
depreciation in the books of lessor

will be :

(A) Amount paid to seller of an.

asset

(B) Fair market value of an asset
on the date of purchase of an

asset

(C) Written down value of an asset
in the books of the seller

(D) Total amount of the lease
rentals receivable over the life
of the asset

Comm.—III
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73.

(I

(I1)  stel-l Gedy- Ry
(IID) Sel-l SietA ulyel

(V) staell sl

A AssL AL :
ULl 2uas @ szl
(b)) $AYEA
52 andil su

© $3R
530 531 galsl sl

(d) $3—2H1%

£ -

74.

CEEIRERRIICE]

O an an av
@ @ © ® @
® ®» @ © @
© © @ @
D @ ® @ ©

‘AALY B GUSLYZ YR~ AR0UUL
GUSIUZ 2ALUALRAL ALUSIHL 9A1R)
ARl w2 Masd-l vIv usd:
gl :

(A) Masd dadlr 3sdd 2s¥,

(B) Pasd WLl ald Biasdd

ool oo —yey

(C) AL ALuSIH FHesdd wilRd

Hey

D) Masd-L 20y e 54

HAAQIULL MLg




75. In case where capital-asset is

converted to stock-in-trade, and

when stock-in-trade is sold, the

amount chargeable to tax will be :

(A)

(B)

(©)

D)

only the amount of difference
between sale price and fair
market value as on date of
conversion under the head
from

Profits and Gains

Business or Profession

difference between fair market
value as on date of conversion
and cost of acquisition or
indexed cost of acquisition as
capital gains and difference
between sale price and fair

market value as on date of

_conversion as Profits and Gains

from Business or Profession

Difference between sale price
and cost of acquisition as capital

gains

Difference between sale price
and cost of acquisition as Profits
and Gains from Business or

Profession.

Comm.—III
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75. o) Hol-Hasd wRis—O-2sHl

JULAR A sl YA, @i FUR Qs

~ -2 A UM AR sWA

AsH e

(A)

(B)

©

D)

Qael—FHd 24 3uidR -l v
y206{l —ol7 R HE AR dslad,
day 2l auudl st wudl

aieil dirls s

3uid-{l dRlvl cy ool —
612 Y ix wE—USAR AUl
Q5B wle—usda-il dglad
ydl-alel aly A Rl [54d

A 3uid~ll alRlvl el

ool e A2l dstad Gal Al

el st aul dei Rls

-

26Ul

qalEid @A we—usdr-l
aslad 3ol ale a3

Qael—Exd A vle—usd-il
aslad bl vl audl st

qar aed olls dsa
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ROUGH WORK
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